CONFIDENTIAL

 λ .

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

OHO3/10
Form ACO-1
September 1999
Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINAL

20006	0111011174
Operator: License # 30606	API No. 15 - 039-21025-00-00
Name: Murfin Drilling Company, Inc.	County: Decatur
Address: 250 N. Water, Suite 300	ME_SE_NE_NW Sec. 24 Twp. 01 S. R. 27 ☐ East West
City/State/Zip: Wichita, Kansas 67202	825 FNL feet from S / (circle one) Line of Section
Purchaser: None	2500 FWL feet from E (circle one) Line of Section
Operator Contact Person: Leon Rodak	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 267-3241	(circle one) NE SE NW SW
Contractor: Name: Murfin Drilling Company, Inc.	Lease Name: Wilpo Unit Well #: 1-24
License: 30606 APR 8 3 2008	Field Name: Wildcat
Wellsite Geologist: Paul Gunzelman	Producing Formation: None
Designate Type of Completion:	Producing Formation: Note Producing Formation: 2421 Kelly Bushing: 2426
New Well Re-Entry Workover	Total Depth: 3550 Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 219 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ✓ No
Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	Morrida
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan ATT TWO (2999)
Deepening Re-perf Conv. to Enhr./SWD	
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No.	Dewatering method used
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
40,00,00	Lease Name: License No.:
12/03/07	Quarter Sec TwpS. R
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulat nerein are complete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
Signature: Kill / Kill	E. H. KCC Office Use ONLY
ritle: Leon Rodak, VP Production Date: 04/03/2008	etter of Confidentiality Received
Subscribed and swen to before me the day of	Denied, Yes Date:
OB (1)	Wireline Log Received RECEIVED ANSAS CORPORATION COMMISSION Geologist Report Received
Notary Public	Geologist Report Received UIC Distribution APR 0 4 2008
Date Commission Expires: 4////30//	CONSERVATION DIVISION WICHITA, KS

Side Two

Operator Name: Murfin Drilling Company, Inc.			Lease Name: Wilpo Unit				Well #: 1-24			
ec. 24 Twp. 01					ty: Deca					
ISTRUCTIONS: Showsted, time tool open a emperature, fluid recovered to the control of the contro	and closed, flowing rery, and flow rate	ng and shut es if gas to	t-in pressures, surface test, a	whether : along with	shut-in pre	essure reached	l static level, hydr	ostatic pressu	res, bottom hole	
rill Stem Tests Taken (Attach Additional Sh	eets)	⊘ Y	es 🗌 No		⊘ L	og Forma	tion (Top), Depth	and Datum	Sample	
amples Sent to Geolo	gical Survey	 ✓ Y	es 🗌 No		Nam	е		Тор	Datum	
ores Taken lectric Log Run (Submit Copy)		Y	_						0.0000	
st All E. Logs Run:						SEE AT	TACHED LIST		KCC	
Dual Induction,	Compensa	ted Por	ositv					APR	0 3 2013	
Microresistivity	Compone		oon,					CON	FDENTIAL	
		Repo		RECORD		w Used	ction, etc.	<u> </u>		
Purpose of String	Size Hole Drilled	Siz	re Casing t (In O.D.)	We	eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Surface				23#	.,,	219 Common		185	3% cc, 2% gel	
			ADDITIONAL	. CEMENT	ING / SQL	IEEZE RECOR	 D			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Туре	of Cement	#Sack	s Used		Type and f	Percent Additives	,	
Shots Per Foot			D - Bridge Plug Each Interval Per		9		acture, Shot, Cemen mount and Kind of Mi		rd Depth	
TUBING RECORD	Size	Set At		Packer	At	Liner Run	Yes 🗸 No			
Date of First, Resumerd P	roduction, SWD or E	Enhr.	Producing Met	hod	Flowing	Pumpi	ng 🔲 Gas Lil	ft 🔲 Othe	er (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	r E	Bbls. C	Gas-Oil Ratio	Gravity	
		COMPLETIO				Production Inte			RECEIVED	

CONSERVATION DIVISION

		Abercrombie #1 Powell C NE NE Sec. 24-T1S-R27W 2424' KB						
FORMATION	2426' KB N Sample Top Datum Ref Log Top Datum Ref							Datum
Anhydrite	1899	+527	-9	1898	+528	-8	1888	+536
B/Anhydrite	1924	+502	-5	1928	+503	-4	1917	+507
Topeka	3000	-574	-9	3000	-574	-9	2989	-565
Heebner	3161	-735	-6	3162	-736	-7	3153	-729
Toronto	3198	-772	-6	3198	-772	-6	3190	-766
Lansing	3205	-779	-7	3210	-784	-12	3196	-772
Base Kansas City	3413	-987	-6	3414	-988	-7	3405	-981
Granite Wash	3516	-1090	-6	3514	-1088	-4	3508	-1084
RTD	3550	-1124					3538	-1114
LTD				3549	-1123		3535	-1111



RECEIVED KANSAS CORPORATION COMMISSION

24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Fax:

(785) 483-3887 (785) 483-5566

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202

Invoice Number: 111502

Invoice Date: Dec 5, 2007

1 Page:

APR 0 3 2008

CONFIDENTIAL

Customer ID	Well Name/# or Customer P.O.	Payment Terms Net 30 Days			
Murfin	Wilpo Unit #1-24				
Sales Rep ID	Camp Location	Service Date	Due Date		
	Oakley	Dec 5, 2007	1/4/08		

Quantity	ltem			Des	cription	* .: * . * *		Unit Price	Amo	unt
185.00	MAT	Common C	lass A				,	12.60		2,331.00
3.00	MAT	Gel						16.65		49.95
6.00	MAT	Chloride						46.60		279.60
194.00	SER	Handling					1.90		368.60	
83.00	SER	Mileage 194 sx @.09 per sk per mi						17.46		1,449.18
1.00	SER	Surface						815.00		815.00
83.00	SER	Mileage Pump Truck						6.00		498.00
1.00	SER	Manifold H	ead Ren	tal				100.00		100.00
1.00	EQP	Wooden St	urface Pl	lug				60.00		60.00
		3000	Unit	lv	No.	Amount (6/22.7) (595	72 (Ingrit.	S. Cog	

TOTAL

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

595,13

ONLY IF PAID ON OR BEFORE

Jan 4, 2008

Subtotal	5,951.33
Sales Tax	171.39
Total Invoice Amount	6,122.72
Payment/Credit Applied	

All Late March

RECEIVED KANSAS CORPORATION COMMISSION

APR 0 4 2008

CONSERVATION DIVISION 2 WICHNA KS

RECEIVED

KANSAS CORPORATION COMMISSION

6,122.72

CONSERVATION DIVISION WICHITA, KS

ALLIED CEMENTING CO., INC. 31822

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT: Oakley						
			DOSE	9			
DATE /2-3-01 29 15 2/4	CALLED OUT	ON LOCATION	JOB START 8/30pm	JOB FINISH			
LEASE 4214 WELL# 1-24 LOCATION 128	8/2N	e into	COUNTY	STATE 5			
OLD OI NEW (Circle one)							
CONTRACTOR Mustin Orilling Rig 3 TYPE OF JOB Surface	OWNER <	sane					
HOLE SIZE 1214 T.D. 219	CEMENT						
CASING SIZE 858 DEPTH 219		RDERED 185	SKS COM	3%cu			
TUBING SIZE DEPTH DRILL PIPE DEPTH	2% gel				,		
DRILL PIPE DEPTH TOOL DEPTH		, , , , , , , , , , , , , , , , , , , 					
PRES. MAX MINIMUM	COMMON_	185-SAS	@ 12,60	1,2331,00			
MEAS. LINE SHOE JOINT	POZMIX		@	_			
PERFS. 15'	GEL STATE	3 SkS	<u> کهایها </u>	19,75			
DISPLACEMENT 13 BBL	CHLORIDE ASC	6 3 K3	_@ <u>46.60</u> @	277160			
EQUIPMENT	7.50		@ @				
			@		0.49.290.6		
PUMPTRUCK CEMENTER Andrew					KC		
#422 HELPER Wayne		14	_@ <i></i>		APR 0 3 2		
BULK TRUCK #. als DRIVER Larene					APR 0 3 2		
BULK TRUCK					CONFIDE		
# DRIVER	HANDLING	IGU S kS	-@ 7,90	368,60			
	MILEAGE _	JE SK/mile	_	1449,18			
REMARKS:	•		TOTAL	4478,33			
Cement in Bottom of Cellar		•					
		SERVI	CE				
	DEPTH OF J	OR 2/0'					
	PUMP TRUC			815,00			
Thank you	EXTRA FOO						
	MILEAGE	83 miles		498,00			
	MANIFOLD!	head sental	_@ <i></i>	100,00			
			_				
CHARGE TO: Mur Fin Drilling							
STREET			TOTAL .	<u>1413,00</u>			
CITYSTATEZIP							
STATEZIF	878	PLUG & FLOAT		r			
	wooden	Surfacept		60,00			
To Allied Cementing Co., Inc.			_@ @				
You are hereby requested to rent cementing equipment	T		_@ _@_				
and furnish cementer and helper to assist owner or		 					
contractor to do work as is listed. The above work was				10.0			
done to satisfaction and supervision of owner agent or			TOTAL .	60200			
contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	TAX						
CONDITIONS listed on the levelse side.							
		RGE					
	DISCOUNT _		IF PAID	IN 30 DAYS			
SIGNATURE Kull Van Lilt			RECEI	VED			
New Can I-W		PRINTE	·	ON COMMISSION			
		PRINTE	D NAME				

APR 0 4 2008



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

Bill To:

Page:

Invoice Number: 111590

Invoice Date: Dec 12, 2007

1

1-10-8 LIZ

Customer ID	Well Name/# or Customer P.O.	Payme	nt Terms		
Murfin	Wilpe Unit #1-24	Net 3	Net 30 Days		
Sales Rep ID	Camp Location	Service Date	Due Date		
	Oakley	Dec 12, 2007	1/11/08		

Quantity	Item	Description	Unit Price	Amount
114.00	MAT	Common Class A	12.60	1,436.40
76.00	MAT	Pozmix	6.40	486.40
7.00	MAT	Gel	16.65	116.55
48.00	MAT ·	Flo Seal	2.00	96.00
199.00	SER	Handling	1.90	378.10
83.00	SER	Mileage 199 sx @.09 per sk per mi	17.91	1,486.53
1.00	SER	Plug to Abandon	955.00	955.00
83.00	SER	Mileage Pump Truck	6.00	498.00
1.00	EQP	Plug	60.00	60.00
	Ac	COURT RESTRICTION OF SOLVE SOL	PA	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 551.30

ONLY IF PAID ON OR BEFORE

Jan 11, 2008

Subtotal	5,512.98
Sales Tax	138.31
Total Invoice Amount -	5,651.29
Payment/Credit Applied	
TOTAL	5,651.29

RECEIVED KANSAS CORPORATION COMMISSION

APR 0 4 2008

CONSERVATION DIVISION WICHITA, KS

ALLIED CEMENTING CO., INC. 28795

REMIT TO P.O. B	OX 31 ELL, KANSAS	67665		SER	VICE POINT:		
, R033	LLL, KANSAS	07003			ONEL		_
12-8-07	SEC. TWP.		CALLED OUT	ON LOCATION	JOB START	JOB FINISH	_
DATE Ur. \ Po	24 1	5 270		5:30 pm	12:00 am	1:00 AM	_
LEASE UN:	WELL# \-2	4 LOCATION COB.	enline 1216	.)	COUNTY	STATE	,
OLD OR NEW Cir		6 in	- 100 0	0 0,0	DECASOR	3	-
					_J		
CONTRACTOR	more	1~#3	OWNER	SAMA			
TYPE OF JOB	PTA						-
HOLE SIZE CASING SIZE		T.D. 3500	_ CEMENT				
TUBING SIZE		DEPTH DEPTH	AMOUNT OF	DERED 19	0 6014	0	_
		DEPTH \925'		2 -14 # 616	2-5 PA		_
TOOL		DEPTH					
PRES. MAX		MINIMUM	_ COMMON	114	@ 1260	14364	<u> </u>
MEAS. LINE		SHOE JOINT	_ POZMIX	76	- 6 40	486	to .
CEMENT LEFT IN	CSG.		GEL	7	@ 1605	116 35	-
PERFS.			_ CHLORIDE _		@		0.470
DISPLACEMENT			ASC				
	EQUIPME	NT		tan I	e <u> </u>		<u>. APP as 211192</u>
			Flo.ser	U. 48#		96	APR 0 3 2013
		FUZZY					- CONFIDENTIA
	IELPER 1	elly	_		_@ <i></i> _		
BULK TRUCK					- @ ———		•
#, 218 D BULK TRUCK	RIVER D	'arrin	-		- @ ——— @		•
	RIVER				@ 90	10	
<u> </u>	MAYER		HANDLING_	199	_@	378 =	` ₹
	DE141 D-1		MILEAGE	109 X2 KX		1486	_
_	REMARK	S :			TOTAL	39999	
25545@	1925		<u> </u>				•
100 9K5 @	1175'	·····	_	SERVI	CE		
109R5 @	275' 40'					•	
1 9 5K3	PH		_ DEPTH OF JO		1925	<u> </u>	_
			_ PUMP TRUCK			95500	<u>,</u>
Pluad	lour a	12:45000	EXTRA FOOT		@ <u>6 99</u>	1.0000	<u> </u>
		INFS FUZZY+	_ MILEAGE			498	
		creu	_ MANIFOLD _				
	_				· @ 		
CHARGE TO:	10201 V	Dala.					
STREET		3.	-		TOTAL	1453	
			-		· IOIAL	1.33	•
CITY	STATE	ZIP	-				
			F	LUG & FLOAT	EQUIPMENT	Γ	•
			- 061	- ,			•
			1-818-6	lug	.@	6000	
To Allind Comment	0 1				.@		•
To Allied Cementin	ig Co., inc.				@		
and furnish cement	uesteu to tent c er and belner to	ementing equipment			@		
contractor to do wo	ci and neiper ((rk as is listed	The above work was					'v
done to satisfaction	and supervision	n of owner agent or			TOTAL	60	* - K
contractor. I have r	ead & understa	and the "TERMS AND			TOTAL .		
CONDITIONS" lis	ted on the rever	rse side.	TAX	·			
		 -	TOTAL CUARC	1E			
The state of the s				E			RECEIVED
		_	DISCOUNT		IF PAID	IN 30 DAYS	KANSAS CORPORATION COMMISSIO
ν	4./.	Q_{A}					ADD 0 L 0000
SIGNATURE _	att Vant	Ut					APR 0 4 2008
(°		-		PRINTEI) NAME		CONCEDIATION DIVIDION